Lecture 6

Friday, April 10, 2020

Loast fine we Adiwcused how to golve a geneial qualiati 27L<affzm of
d\t), form  ax + bt € ¢ =0, Now we will discass how w(uc a J@n&mp
ki cquation of e furm ai< b+ e cd=o.

", this equation hes a specidd vk, coy 2230, Thes sve Shodd
{Nhr ok b=, cnd Chow The pobler becomar poluing a quadeat

watioy ( ¢ee awm ame(e, given (a5 fine). Here we ave inberested o

a bt wler o f(z.ead s afe bntoon for exanple, the equation.
?;'-t 1y < 2= O,
One com chede that nove of He number 41, £2 solue the e?ud‘idl«,

We Axtcuss wn Lecdure 2 how Solw_ tle CL-.(«’(_ qum‘m 70 tle

ot
g prt+ g=0.  (x)
We refer fo that netlod s (Cardonot metho (v I56s) . Hes idea
Koo Qf/awz ) frlgl,- T uty where « awd U oan B le defermined,
The 2quahm (x) becones
u’-f v*"1- @b«.l»—*l-—f)(kw) t 7 = 0.
We Ham (MPDSZX aw adlifion o u and 'v,hanu.(la e+ F;@,
Than we éd & (grﬁ:w oA twy  unbnoows
[ W4 tq=0
Sur 4 P = O.
From beve e cdei
V\}—t l)} = ——6{ )
{ u}u—} = - f‘/p(.
The t=d cnd c= v solve '(’Lte z(uaJ/a_‘hL eA(u.A'fIZM
W4 g — ’Z}zo.

e g4 ( 2, 47
W= 1(—71—/2\-/ whese 4:.74-2?—,
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v’ — :‘L(—q—/ﬂ

v o= Vé(—?-ﬁ\) .

Vite that thue are three valuns of w and three values of v
beapse « cdw,»{e,u, number ey three thiml roots. Let ws dewuste The
fhree valuo of o an  wiiu, uy ) and the three yalue of o~ s

U Ve vy Tha vrovle 2 2 w4 o( the Nrﬁzud cebir ez(u.ifl“dw afre Tluere,cw

We g4t w3 i(_ﬁ{_lz)

“W T, U Uy n, t U,
“ t v, “vt Vo, Uy Tz,
Lt oy, by €1y, by £y

—_—

X

Aoy thuic 9 paits € (w,v), we mtb take the orer suchthat uva
One com check thy relsdion by checking 4 anm) + ag(o) = ag () o
waddo 25, fee the wwhchet for on Ov.ampfe.

l(, fLL 511«4{'(0‘»\ S im a ﬁ.(u.QI‘A/Q f‘ur»\ A‘t}{-Le".gc%--bJ.—.O/ we can
AIV(‘AL botin J‘Cﬂ(x/) LO o |

t$+—g %L—E i %—-ei =0
a A o
ﬁwv( d\‘cw U (le ctxﬁhje_ [{G VQN&U@ x= ZF-t g—é’- - 71@ e7qul(‘a;7
a

t’L.z:_E L s‘qh'gfcw w((l be 6;( t‘Lo. {;afm ’)Ls'('/)l'("?:O.

Ex :
= S .
2 t% <l = O

Clu&na&, y’( Vﬁﬂ‘adb Lo ’z‘:-(-% = -7:-+|, o (?u_(vqten_u('] T X~
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Sebsbibde Hus =+ iy the cqmd‘dm:
Q.—-l)5 + 1G04 [ = O
o CT wtvete.uﬂ,g,
1> =Tt 3= O
We lenow how © solve thus ez(cm‘éc‘dk 4(7 Curdano's lMc'l"ZL"z(‘
(See Doblene 2 an $he workdudt for wn«f/d

X TL\L cl_(;vncufcd ,Cuwd'am wffln w«p{u_ va.rcdr/z
We Enow what o € when » ER . That

- e L x’
€= (t — f — + — t----
T TRET

We b'ww W!a,,»»{' za(a % w&u« ﬂ EI . 71«# s
< [ Ut - )?
P A —’ig-\\gl)-—l-Qﬂ"('*“'
ft 2| by
oo Ao we &e‘a’m/ < wl\ue, 2= 1t 7
ﬂwt— axe fwv cqua,(-ad’ wég; (‘o J-.,p‘na < . T[w. f(rsf way I

e M A4 £t = a(coay t c‘elm«?,

=

T)/w_ Second wﬁ.j cC
& 2+ v
<= (*(-T‘* + — % — + ...

zt

WL.? avre ‘l‘,'Luc, two wq,y: -ecltawtlcu‘{ ® echt oﬂ\.ef? Lef [28¢ /)LJL w= X QM(
o= 03‘ we  Kuow H«\.cv,t

L )
D S T

1§ 2! 31

L
v v s 11'}
¢ = It =t — +—1---
Y T T
TL\M G 0 © A o’ ) v-]' vJ
Aol - £ = + = 4.~ —t —  — -
¢ (Ll EREET AT T
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S P G
{( 2
TILVJ/ *CK'CC? _ {/L\{/tr e w4V Q—v(-b)\‘-‘ o {.(_‘E-(._e_}_(.‘ ]
VE/,I/ I 2 2
. . - _
fp ’ (( fecond o ?ﬂ
£ et ¢
e-&

’('{bu) 0?,0 we oQ@Qw_ Sine cwd  CoSlie ¢1L Ccﬂ«flcx Vq/(‘aéle 7
We kwaw thdt e = Cax t i for axy x €K
N ow reflaa_ s 4(9 —X.

C—‘A: Coj(—k) -+ t“fru.(-)‘j
= (ol ~ [Sink

From hore  we 30{'
(X —~ O ~Cx
e e
(o= -i- J N =
Z )
These  idewditien are tue whe v @ a reak numder. We will now allow

T~ ‘i‘o Le, a\xJ OM}V(C?\ P\KML&«/\ 771/14/,
_t_lgh_ ﬂ(;, . e—l 13 6&'} _ e-(’?:
wnyr —/— —— M~ —m88—
2 2¢

Tl'\ae X%z’ui{'rw are ch, Same.  As

>

¢

4
sy = Lo 2 B F
2} 4! ¢l
bY s ks
ﬁ‘m:c-%-*-g + L—i t -
71 g Es!

<0h6 Cam OLWL LZ wn‘lil«s ﬂ\( serres W e,(%' awf z_ib.)
(ee Cm»—rmfdfrm e"uam(r(e/' n {’LL ouofL{wa .
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